

13515 Yarmouth Drive, Pickerington OH 43147-8273; T 614-856-1900 F 614-856-1924

## 2008 AMA SUPERBIKE CHAMPIONSHIP presented by Parts Unlimited BONUS AWARD POSTINGS

PRODUCT	REQUIREMENTS	AWARD TYPE	SUPERBIKE - PER EVENT	SUPERBIKE CHAMP BONUS
Akrapovic Exhaust	Product Usage & Machine Decal	Per Position		
Alpinestars Leather Suit	Product Usage &	Per Position	1 <sup>st</sup> -1000: 2 <sup>nd</sup> -500:	
Honda CBR1000RR				
	· · · · · · · · · · · · · · · · · · ·			
			4th-2000: 5th-	
			1500; 6 <sup>th</sup> -1000; 7 <sup>th</sup> -	
			750; 8th-500; 9 <sup>th</sup> -	
			300; 10 <sup>th</sup> -200	
Suzuki GSX-R1000	Product Usage	Per Position	1 <sup>st</sup> -7000; 2 <sup>nd</sup> -6000;	
		Non-Factory	3 <sup>rd</sup> -5000; 4 <sup>th</sup> -2000;	
			5, 1500; 6, 1000;	
			7 <sup>°°</sup> -500; 8 <sup>°°</sup> -450; 9 <sup>°°</sup> -	
			400; 10 <sup>°°</sup> -350	. st
Arai Helmet		Per Position		1 <sup>st</sup> -10000
			3'°-500	
				4 4 5000
Arata Exhaust		Per Position		1st-5000
Duralan Tinan FAD	Draduat Llagra 8	Der Deeltier		
Duniop Tires F&R		Per Position		
			511-50	
GPR Stabilizer		Per Position	1 <sup>st</sup> -300· 2 <sup>nd</sup> -200·	1 <sup>st</sup> -1000; 2 <sup>nd</sup> -750;
Of IC Stabilizer		I EI I OSILIOIT	3 <sup>rd</sup> -100: 4 <sup>th</sup> -50	3 <sup>rd</sup> -500
Hindle Exhaust Systems		Per Position	1 <sup>st</sup> -500: 2 <sup>nd</sup> -400:	1 <sup>st</sup> -5000; 2 <sup>nd</sup> -2500;
	Machine Decal		3 <sup>rd</sup> -300: 4 <sup>th</sup> -200:	3 <sup>rd</sup> -1000
			5 <sup>th</sup> -100	0 1000
HJC Helmets	Product Usage	Per Position		
	· · · · · · · · · · · · · · · · · · ·		3 <sup>rd</sup> -50	
Leo Vince Exhaust	Product Usage &	Per Position	1 <sup>st</sup> -1000: 2 <sup>nd</sup> -500:	
	Machine Decal		3 <sup>rd</sup> -250: 4 <sup>th</sup> -100:	
			5 <sup>th</sup> -100; 6 <sup>th</sup> 100; 7 <sup>th</sup> -	
			75; 8 <sup>th</sup> -75; 9 <sup>th</sup> -50;	
			10 <sup>th</sup> -50	
Michelin Tires F&R		Per Position		1 <sup>st</sup> -6000
			3 <sup>rd</sup> -400; 4 <sup>th</sup> -300;	
Pirelli Tires F&R		Per Position		
	Machine Decal			
			/tn-1/5; 8tn-125;	
B Tech Decing Fuels	Draduat Llagge 8	Dar Desition	9th-100; 10th-75	1 <sup>st</sup> -1000; 2 <sup>nd</sup> -500;
R-Tech Racing Fuels		Per Position		3 <sup>rd</sup> -250
			3 -100, 4 -50, 5 -	3 -200
			20 -23	
loe Rocket Suit, Gloves &		Per Position	1 <sup>st</sup> -600· 2 <sup>nd</sup> -300·	
	1 TOUGOL OBAYE		3 <sup>rd</sup> -100	
	Product Usage		1 <sup>st</sup> -1000 2 <sup>nd</sup> -750	1 <sup>st</sup> -10000
			3 <sup>rd</sup> -500: 4 <sup>th</sup> -250	
			5 <sup>th</sup> -100	
VP Fuel	Minimum of 15 gallons	Per Position	1st-5 <sup>th</sup> -100; 6 <sup>th</sup> -10 <sup>th</sup> -	
	must be purchased		50; 11 <sup>th</sup> -20 <sup>th</sup> -25	
	directly from VP at the			
	race where			
	contingency is claimed			
	Machine Decal		ist i an end	
	Product Usage &	Per Position	1 <sup>st</sup> -10000; 2 <sup>nd</sup> -	
Yamaha YZF-R1				
Yamaha YZF-R1	Machine Decal		5000; 3 <sup>rd</sup> -4000; 4 <sup>th</sup> -	
Yamana YZF-R1			3500; 5 <sup>th</sup> -3000; 6 <sup>th</sup> -	
Yamana Y∠F-R1			5000; 3 <sup>rd</sup> -4000; 4 <sup>th</sup> - 3500; 5 <sup>th</sup> -3000; 6 <sup>th</sup> - 2500; 7 <sup>th</sup> -2000; 8 <sup>th</sup> - 1000; 9 <sup>th</sup> -500; 10 <sup>th</sup> -	
	Alpinestars Leather Suit   Honda CBR1000RR   Suzuki GSX-R1000   Arai Helmet   Arata Exhaust   Dunlop Tires F&R   GPR Stabilizer   Hindle Exhaust Systems   HJC Helmets   Leo Vince Exhaust   Michelin Tires F&R   Pirelli Tires F&R   Pirelli Tires F&R   Joe Rocket Suit, Gloves & Boots   Shoei Helmet	Machine DecalAlpinestars Leather SuitProduct Usage & Machine DecalHonda CBR1000RRProduct UsageSuzuki GSX-R1000Product UsageArai HelmetProduct Usage, Machine Decal & Helmet DecalArata ExhaustProduct Usage & Machine Decal & Helmet DecalDunlop Tires F&RProduct Usage & Machine Decal both sides of fairing and front fenderGPR StabilizerProduct Usage & Machine DecalHindle Exhaust SystemsProduct Usage & Machine DecalHJC HelmetsProduct Usage & Machine DecalLeo Vince ExhaustProduct Usage & Machine Decal & Product Usage & Machine DecalMichelin Tires F&RProduct Usage & Machine Decal & Product Usage & Machine DecalMichelin Tires F&RProduct Usage & Machine Decal & Product Usage & Machine Decal & Product Usage & 	Machine DecalAlpinestars Leather SuitProduct Usage & Per Position Non-FactoryHonda CBR1000RRProduct UsagePer Position Non-FactorySuzuki GSX-R1000Product UsagePer Position Non-FactoryArai HelmetProduct Usage, Machine Decal & Helmet DecalPer Position Non-FactoryArai HelmetProduct Usage, Machine Decal & Helmet DecalPer Position Non-FactoryDunlop Tires F&RProduct Usage & Machine Decal both sides of fairing and front fenderPer PositionGPR StabilizerProduct Usage & Machine DecalPer PositionHindle Exhaust SystemsProduct Usage & Machine DecalPer PositionMichelin Tires F&RProduct Usage & Machine Decal & Path on LeathersPer PositionPirelli Tires F&RProduct Usage & Machine Decal (Proof of Purchase from event)Per PositionJoe Rocket Suit, Gloves & BootsProduct Usage Product UsagePer PositionVP FuelMinimum of 15 gallons must be purchased directly from VP at the race wherePer Position	Akrapovic Exhaust   Product Usage & Machine Decal   Per Position   1 <sup>4*</sup> -600; 2 <sup>rd</sup> -300; 3 <sup>rd</sup> -100     Alpinestars Leather Suit   Product Usage & Machine Decal   Per Position   1 <sup>rd</sup> -100; 2 <sup>rd</sup> -500; 3 <sup>rd</sup> -250; 3 <sup>rd</sup> -250; 3 <sup>rd</sup> -200; 2 <sup>rd</sup> -400; 3 <sup>rd</sup> -200; 2 <sup>rd</sup> -400; 3 <sup>rd</sup> -200; 5 <sup>rd</sup> -400; 3 <sup>rd</sup> -500; 6 <sup>rd</sup> -1000; 7 <sup>rd</sup> -760; 8 <sup>rd</sup> -500; 6 <sup>rd</sup> -1000; 7 <sup>rd</sup> -760; 8 <sup>rd</sup> -500; 6 <sup>rd</sup> -1000; 7 <sup>rd</sup> -760; 8 <sup>rd</sup> -500; 6 <sup>rd</sup> -1000; 7 <sup>rd</sup> -760; 8 <sup>rd</sup> -500; 6 <sup>rd</sup> -1000; 7 <sup>rd</sup> -750; 3 <sup>rd</sup> -500; 6 <sup>rd</sup> -1000; 7 <sup>rd</sup> -750; 3 <sup>rd</sup> -500; 6 <sup>rd</sup> -1000; 7 <sup>rd</sup> -500; 8 <sup>rd</sup> -400; 10 <sup>rd</sup> -350; 1 <sup>rd</sup> -1500; 5 <sup>rd</sup> -1500; 3 <sup>rd</sup> -150; 3 <sup>rd</sup> -100; 3 <sup>rd</sup> -250; 3 <sup>rd</sup> -100; 3 <sup>rd</sup> -150; 3 <sup>rd</sup> -150; 3 <sup>rd</sup> -150; 3 <sup>rd</sup> -100; 3 <sup>rd</sup> -250; 3 <sup>rd</sup> -100; 3 <sup>rd</sup> -100; 3 <sup>rd</sup> -200; 5 <sup>rd</sup> -200;

SUPERSPORT	PRODUCT	REQUIREMENTS	AWARD TYPE	SUPERSPORT - PER EVENT	SUPERSPORT CHAMP BONUS
Akrapovic Exhaust System Technology	Akrapovic Exhaust	Product Usage & Machine Decal	Per Position	1 <sup>st</sup> -600; 2 <sup>nd</sup> -300; 3 <sup>rd</sup> -100	
American Honda Motor Co.	Honda CBR600RR	Product Usage	Per Position Non-Factory	1st-5000; 2nd- 4000; 3rd-3000; 4th-2000; 5th- 1500; 6 <sup>th</sup> -1000; 7 <sup>th</sup> - 750; 8th-500; 9 <sup>th</sup> - 300; 10 <sup>th</sup> -200	
American Suzuki Motor Co.	Suzuki GSX-R600	Product Usage	Per Position Non-Factory	$\begin{array}{c}1^{st}\text{-}7000;\ 2^{nd}\text{-}6000;\\3^{rd}\text{-}5000;\ 4^{th}\text{-}2000;\\5^{th}\text{-}1500;\ 6^{th}\text{-}1000;\\7^{th}\text{-}500;\ 8^{th}\text{-}450;\ 9^{th}\text{-}400;\ 10^{th}\text{-}350\end{array}$	
Arai Helmets	Arai Helmet	Product Usage, Machine Decal & Helmet Decal	Per Position	1 <sup>st</sup> -750; 2 <sup>nd</sup> -500; 3 <sup>rd</sup> -350	1 <sup>st</sup> -7500
Center of Gravity	Arata Exhaust	Product Usage & Machine Decal	Per Position	1st-3000; 2nd- 1500; 3rd-750	1st-5000
Erion Racing	Erion Racing Exhaust Systems	Product Usage & Machine Decal	Per Position	1 <sup>st</sup> -1000; 2 <sup>nd</sup> -500; 3 <sup>rd</sup> -250	1 <sup>st</sup> -5000
Goodyear Dunlop Tire NA	Dunlop Tires F&R	Product Usage & Machine Decal both sides of fairing and front fender	Per Position	1st-500; 2nd-250; 3rd-125; 4th-75; 5th-50	
GPR Stabilizer	GPR Stabilizer	Product Usage & Machine Decal	Per Position	1 <sup>st</sup> -300; 2 <sup>nd</sup> -200; 3 <sup>rd</sup> -100; 4 <sup>th</sup> -50	1 <sup>st</sup> -1000; 2 <sup>nd</sup> -750; 3 <sup>rd</sup> -500
Graves Motorsports	Graves Motorsports Exhaust System	Product Usage & Machine Decal	Per Position	1st-500; 2 <sup>nd</sup> -300; 3 <sup>rd</sup> -200	
Hindle Exhaust Systems	Hindle Exhaust Systems	Product Usage & Machine Decal	Per Position	1 <sup>st</sup> -500; 2 <sup>nd</sup> -400; 3 <sup>rd</sup> -300; 4 <sup>th</sup> -200; 5 <sup>th</sup> -100	1 <sup>st</sup> -5000; 2 <sup>nd</sup> -2500; 3 <sup>rd</sup> -1000
HJC America, Inc.	HJC Helmets	Product Usage	Per Position	1 <sup>st</sup> -150; 2nd-100; 3 <sup>rd</sup> -50	
Leo Vince USA	Leo Vince Exhaust	Product Usage & Machine Decal	Per Position	$\begin{array}{c}1^{\text{st}}\text{-}1000;\ 2^{\text{nd}}\text{-}500;\\3^{\text{rd}}\text{-}250;\ 4^{\text{th}}\text{-}100;\\5^{\text{th}}\text{-}100;\ 6^{\text{th}}100;\ 7^{\text{th}}\text{-}\\75;\ 8^{\text{th}}\text{-}75;\ 9^{\text{th}}\text{-}50;\\10^{\text{th}}\text{-}50\end{array}$	
M4 Products	M4 Exhaust	Product Usage & Machine Decal	Per Position Non-Factory	1 <sup>st</sup> thru 10 <sup>th</sup> -100	
Michelin Tire Corp.	Michelin Tires F&R	Product Usage & Machine Decal & Patch on Leathers	Per Position	1 <sup>st</sup> -750; 2 <sup>nd</sup> -500; 3 <sup>rd</sup> -300; 4 <sup>th</sup> -200; 5 <sup>th</sup> -100	1 <sup>st</sup> -4000
Ohlins USA, Inc.	Ohlins Fork Kits, Shocks and Steering Dampers	Product Usage & Machine Decal	Top Finisher	1 <sup>st</sup> -350; 2 <sup>nd</sup> -250; 3 <sup>rd</sup> -150; 4 <sup>th</sup> -100; 5 <sup>th</sup> -75; 6 <sup>th</sup> -50; 7 <sup>th</sup> -25	
Pirelli Tire NA	Pirelli Tires F&R	Product Usage & Machine Decal	Per Position	1st-1000; 2nd-800; 3rd-600; 4th-400; 5th-300; 6th-200; 7th-175; 8th-125; 9th-100; 10th-75	
R-Tech Racing Fuels	R-Tech Racing Fuels	Product Usage & Machine Decal (Proof of Purchase from event)	Per Position	1 <sup>st</sup> -300; 2 <sup>nd</sup> -200; 3 <sup>rd</sup> -100; 4 <sup>th</sup> -50; 5 <sup>th</sup> - 20 <sup>th</sup> -25	1 <sup>st</sup> -1000; 2 <sup>nd</sup> -500; 3 <sup>rd</sup> -250
Robison's Inc.	Joe Rocket Suit, Gloves & Boots	Product Usage	Per Position Non-Factory	1 <sup>st</sup> -600; 2 <sup>nd</sup> -300; 3 <sup>rd</sup> -100	
Shoei Safety Helmet Corp.	Shoei Helmet	Product Usage	Per Position	1 <sup>st</sup> -1000; 2 <sup>nd</sup> -750; 3 <sup>rd</sup> -500; 4 <sup>th</sup> -250; 5 <sup>th</sup> -100	1 <sup>st</sup> -10000
VP Racing Fuels Inc.	VP Fuel	Minimum of 15 gallons must be purchased directly from VP at the race where contingency is claimed Machine Decal	Per Position	1st-5 <sup>th</sup> -100; 6 <sup>th</sup> -10 <sup>th</sup> - 50; 11 <sup>th</sup> -20 <sup>th</sup> -25	
Yamaha Motor Corp.	Yamaha YZF-R6	Product Usage & Machine Decal	Per Position	1 <sup>st</sup> -10000; 2 <sup>nd</sup> - 5000; 3 <sup>rd</sup> -4000; 4 <sup>th</sup> - 3500; 5 <sup>th</sup> -3000; 6 <sup>th</sup> - 2500; 7 <sup>th</sup> -2000; 8 <sup>th</sup> - 1000; 9 <sup>th</sup> -500; 10 <sup>th</sup> - 250	
Yoshimura R&D of America	Yoshimura Exhaust System	Product Usage & Machine Decal	Per Position Non-Factory	1 <sup>st</sup> -600; 2nd-300; 3 <sup>rd</sup> -100	1 <sup>st</sup> -2000; 2 <sup>nd</sup> -1000; 3 <sup>rd</sup> -500

FORMULA XTREME	PRODUCT	REQUIREMENTS	AWARD TYPE	FORMULA XTREME - PER EVENT	FORMULA XTREME CHAMP BONUS
American Honda Motor Co.	Honda CBR600RR	Product Usage	Per Position Non-Factory	1st-5000; 2nd- 4000; 3rd-3000; 4th-2000; 5th- 1500; 6 <sup>th</sup> -1000; 7 <sup>th</sup> - 750; 8th-500; 9 <sup>th</sup> - 300; 10 <sup>th</sup> -200	
American Suzuki Motor Co.	Suzuki GSX-R600	Product Usage	Per Position Non-Factory	1 <sup>st</sup> -5000; 2 <sup>nd</sup> -3000; 3 <sup>rd</sup> -2500; 4 <sup>th</sup> -2000; 5 <sup>th</sup> -1500; 6 <sup>th</sup> -1000; 7 <sup>th</sup> -500; 8 <sup>th</sup> -450; 9 <sup>th</sup> - 400; 10 <sup>th</sup> -350	
Arai Helmets	Arai Helmet	Product Usage, Machine Decal & Helmet Decal	Per Position	1 <sup>st</sup> -500; 2 <sup>nd</sup> -400; 3 <sup>rd</sup> -300	1 <sup>st</sup> -5000
Buell Motorcycle Company	Buell XB9R, XB12R	Product Usage	Per Position	1 <sup>st</sup> -10000; 2 <sup>nd</sup> - 5000; 3 <sup>rd</sup> -3000; 4 <sup>th</sup> - 2000; 5 <sup>th</sup> -1000	
Center of Gravity	Arata Exhaust	Product Usage & Machine Decal	Per Position	1st-3000; 2nd- 1500; 3rd-750	1st-5000
Erion Racing	Erion Racing Exhaust Systems	Product Usage & Machine Decal	Per Position	1 <sup>st</sup> -1000; 2 <sup>nd</sup> -500; 3 <sup>rd</sup> -250	1 <sup>st</sup> -5000
Goodyear Dunlop Tire NA	Dunlop Tires F&R	Product Usage & Machine Decal both sides of fairing and front fender	Per Position	1st-500; 2nd-250; 3rd-125; 4th-75; 5th-50	
GPR Stabilizer	GPR Stabilizer	Product Usage & Machine Decal	Per Position	1 <sup>st</sup> -300; 2 <sup>nd</sup> -200; 3 <sup>rd</sup> -100; 4 <sup>th</sup> -50	1 <sup>st</sup> -1000; 2 <sup>nd</sup> -750; 3 <sup>rd</sup> -500
Hindle Exhaust Systems	Hindle Exhaust Systems	Product Usage & Machine Decal	Per Position	1 <sup>st</sup> -500; 2 <sup>nd</sup> -400; 3 <sup>rd</sup> -300; 4 <sup>th</sup> -200; 5 <sup>th</sup> -100	1 <sup>st</sup> -5000; 2 <sup>nd</sup> -2500; 3 <sup>rd</sup> -1000
HJC America, Inc.	HJC Helmets	Product Usage	Per Position	1 <sup>st</sup> -150; 2nd-100; 3 <sup>rd</sup> -50	
Leo Vince USA	Leo Vince Exhaust	Product Usage & Machine Decal	Per Position	1 <sup>st</sup> -1000; 2 <sup>nd</sup> -500; 3 <sup>rd</sup> -250; 4 <sup>th</sup> -100; 5 <sup>th</sup> -100; 6 <sup>th</sup> 100; 7 <sup>th</sup> - 75; 8 <sup>th</sup> -75; 9 <sup>th</sup> -50; 10 <sup>th</sup> -50	
Michelin Tire Corp.	Michelin Tires F&R	Product Usage & Machine Decal & Patch on Leathers	Per Position	1 <sup>st</sup> -750; 2 <sup>nd</sup> -500; 3 <sup>rd</sup> -300; 4 <sup>th</sup> -200; 5 <sup>th</sup> -100	1 <sup>st</sup> -4000
Penske Racing Shocks	Penske Racing Shocks	Product Usage & Machine Decal	Per Position Non-Factory	1 <sup>st</sup> -200; 2 <sup>nd</sup> -175; 3 <sup>rd</sup> -140; 4 <sup>th</sup> -110; 5 <sup>th</sup> -90; 5 <sup>th</sup> -70; 7 <sup>th</sup> - 65; 8 <sup>th</sup> -60; 9 <sup>th</sup> -50; 10 <sup>th</sup> -40	
Pirelli Tire NA	Pirelli Tires F&R	Product Usage & Machine Decal	Per Position	1st-1000; 2nd-800; 3rd-600; 4th-400; 5th-300; 6th-200; 7th-175; 8th-125; 9th-100; 10th-75	
R-Tech Racing Fuels	R-Tech Racing Fuels	Product Usage & Machine Decal (Proof of Purchase from event)	Per Position	1 <sup>st</sup> -300; 2 <sup>nd</sup> -200; 3 <sup>rd</sup> -100; 4 <sup>th</sup> -50; 5 <sup>th</sup> - 20 <sup>th</sup> -25	1 <sup>st</sup> -1000; 2 <sup>nd</sup> -500; 3 <sup>rd</sup> -250
Robison's Inc.	Joe Rocket Suit, Gloves & Boots	Product Usage	Per Position Non-Factory	1 <sup>st</sup> -600; 2 <sup>nd</sup> -300; 3 <sup>rd</sup> -100	
Shoei Safety Helmet Corp.	Shoei Helmet	Product Usage	Per Position	1 <sup>st</sup> -1000; 2 <sup>nd</sup> -750; 3 <sup>rd</sup> -500; 4 <sup>th</sup> -250; 5 <sup>th</sup> -100	1 <sup>st</sup> -10000
VP Racing Fuels Inc.	VP Fuel	Minimum of 15 gallons must be purchased directly from VP at the race where contingency is claimed Machine Decal	Per Position	1st-5 <sup>th</sup> -100; 6 <sup>th</sup> -10 <sup>th</sup> - 50; 11 <sup>th</sup> -20 <sup>th</sup> -25	
Yamaha Motor Corp.	Yamaha YZF-R6	Product Usage & Machine Decal	Per Position	1 <sup>st</sup> -10000; 2 <sup>nd</sup> - 5000; 3 <sup>rd</sup> -4000; 4 <sup>th</sup> - 3500; 5 <sup>th</sup> -3000; 6 <sup>th</sup> - 2500; 7 <sup>th</sup> -2000; 8 <sup>th</sup> - 1000; 9 <sup>th</sup> -500; 10 <sup>th</sup> - 250	

SUPERSTOCK	PRODUCT	REQUIREMENTS	AWARD TYPE	SUPERSTOCK PER EVENT	SUPERSTOCK CHAMP BONUS
American Honda Motor Co.	Honda CBR1000RR	Product Usage	Per Position Non-Factory	1st-5000; 2nd- 4000; 3rd-3000; 4th-2000; 5th- 1500; 6 <sup>th</sup> -1000; 7 <sup>th</sup> - 750; 8th-500; 9 <sup>th</sup> - 300; 10 <sup>th</sup> -200	
American Suzuki Motor Co.	Suzuki GSX0R1999	Product Usage	Per Position Non-Factory	$\begin{array}{c}1^{st}\text{-}7000;\ 2^{nd}\text{-}6000;\\3^{rd}\text{-}5000;\ 4^{th}\text{-}2000;\\5^{th}\text{-}1500;\ 6^{th}\text{-}1000;\\7^{th}\text{-}500;\ 8^{th}\text{-}450;\ 9^{th}\text{-}\\400;\ 10^{th}\text{-}350\end{array}$	
Arai Helmets	Arai Helmet	Product Usage, Machine Decal & Helmet Decal	Per Position	1 <sup>st</sup> -500; 2 <sup>nd</sup> -400; 3 <sup>rd</sup> -300	1 <sup>st</sup> -5000
Center of Gravity	Arata Exhaust	Product Usage & Machine Decal	Per Position	1st-3000; 2nd- 1500; 3rd-750	1st-5000
Goodyear Dunlop Tire NA	Dunlop Tires F&R	Product Usage & Machine Decal both sides of fairing and front fender	Per Position	1st-500; 2nd-250; 3rd-125; 4th-75; 5th-50	
GPR Stabilizer	GPR Stabilizer	Product Usage & Machine Decal	Per Position	1 <sup>st</sup> -300; 2 <sup>nd</sup> -200; 3 <sup>rd</sup> -100; 4 <sup>th</sup> -50	1 <sup>st</sup> -1000; 2 <sup>nd</sup> -750; 3 <sup>rd</sup> -500
Graves Motorsports	Graves Motorsports Exhaust System	Product Usage & Machine Decal	Per Position	1st-500; 2 <sup>nd</sup> -300; 3 <sup>rd</sup> -200	
Hindle Exhaust Systems	Hindle Exhaust Systems	Product Usage & Machine Decal	Per Position	1 <sup>st</sup> -500; 2 <sup>nd</sup> -400; 3 <sup>rd</sup> -300; 4 <sup>th</sup> -200; 5 <sup>th</sup> -100	1 <sup>st</sup> -5000; 2 <sup>nd</sup> -2500; 3 <sup>rd</sup> -1000
HJC America, Inc.	HJC Helmets	Product Usage	Per Position	1 <sup>st</sup> -150; 2nd-100; 3 <sup>rd</sup> -50	
Leo Vince USA	Leo Vince Exhaust	Product Usage & Machine Decal	Per Position	$\begin{array}{c}1^{\text{st}}\text{-}1000;\ 2^{\text{nd}}\text{-}500;\\3^{\text{rd}}\text{-}250;\ 4^{\text{th}}\text{-}100;\\5^{\text{th}}\text{-}100;\ 6^{\text{th}}100;\ 7^{\text{th}}\text{-}\\75;\ 8^{\text{th}}\text{-}75;\ 9^{\text{th}}\text{-}50;\\10^{\text{th}}\text{-}50\end{array}$	
M4 Products	M4 Exhaust	Product Usage & Machine Decal	Per Position Non-Factory	1 <sup>st</sup> thru 10 <sup>th</sup> -100	
Michelin Tire Corp.	Michelin Tires F&R	Product Usage & Machine Decal & Patch on Leathers	Per Position	1 <sup>st</sup> -700; 2 <sup>nd</sup> -500; 3 <sup>rd</sup> -300; 4 <sup>th</sup> -200; 5 <sup>th</sup> -100	1 <sup>st</sup> -4000
Pirelli Tire NA	Pirelli Tires F&R	Product Usage & Machine Decal	Per Position	1st-1000; 2nd-800; 3rd-600; 4th-400; 5th-300; 6th-200; 7th-175; 8th-125; 9th-100; 10th-75	
R-Tech Racing Fuels	R-Tech Racing Fuels	Product Usage & Machine Decal (Proof of Purchase from event)	Per Position	1 <sup>st</sup> -300; 2 <sup>nd</sup> -200; 3 <sup>rd</sup> -100; 4 <sup>th</sup> -50; 5 <sup>th</sup> - 20 <sup>th</sup> -25	1 <sup>st</sup> -1000; 2 <sup>nd</sup> -500; 3 <sup>rd</sup> -250
Race Tech	Race Tech Suspension	Product Usage & Machine Decal	Per Position	1 <sup>st</sup> -150; 2 <sup>nd</sup> -100; 3 <sup>rd</sup> -75; 4 <sup>th</sup> -50; 5 <sup>th</sup> - 50; 6 <sup>th</sup> -10 <sup>th</sup> -40; 11 <sup>th</sup> - 20 <sup>th</sup> -25	
Robison's Inc.	Joe Rocket Suit, Gloves & Boots	Product Usage	Per Position Non-Factory	1 <sup>st</sup> -600; 2 <sup>nd</sup> -300; 3 <sup>rd</sup> -100	
Shoei Safety Helmet Corp.	Shoei Helmet	Product Usage	Per Position	1 <sup>st</sup> -1000; 2 <sup>nd</sup> -750; 3 <sup>rd</sup> -500; 4 <sup>th</sup> -250; 5 <sup>th</sup> -100	1 <sup>st</sup> -10000
VP Racing Fuels Inc.	VP Fuel	Minimum of 15 gallons must be purchased directly from VP at the race where contingency is claimed Machine Decal	Per Position	1st-5 <sup>th</sup> -100; 6 <sup>th</sup> -10 <sup>th</sup> - 50; 11 <sup>th</sup> -20 <sup>th</sup> -25	
Yamaha Motor Corp.	Yamaha YZF-R1	Product Usage & Machine Decal	Per Position	1 <sup>st</sup> -10000; 2 <sup>nd</sup> - 5000; 3 <sup>rd</sup> -4000; 4 <sup>th</sup> - 3500; 5 <sup>th</sup> -3000; 6 <sup>th</sup> - 2500; 7 <sup>th</sup> -2000; 8 <sup>th</sup> - 1000; 9 <sup>th</sup> -500; 10 <sup>th</sup> - 250	
Yoshimura R&D of America	Yoshimura Exhaust System	Product Usage & Machine Decal	Per Position Non-Factory	1 <sup>st</sup> -600; 2nd-300; 3 <sup>rd</sup> -100	1 <sup>st</sup> -2000; 2 <sup>nd</sup> -1000; 3 <sup>rd</sup> -500